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Ritp://farbe i tu-berlin.de/ WESAWESAL ONA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/

log (L*) LABJND threshold lightness
log(L*) L*

L*=(/a)In(1+a-Y)

a=0,3411 t=88,23  t/a=258.6

L* =508 Y,=18
log(L* \)=2,70 m,=0,43

application
range
1Y, =18100)0

WES40-1N_1

log AY CIE tristimulus value Y difference
log(AY) AY |*=(t/a)In (1 +a-Y)
a=0,3411 =88,23 t/a=258.6
tristimulus value Y difference
log(dY)=1log[(s+q-Y)/c]
=log[(1+a-Y)/t]
s=0,0170 @=0,0058 c=1.5

application
range

WES540-3N_1

log AY/Y) CIE tristimulus
log(C) C/=(AYIY) value Y contrast
L*=(t/a)In(1+a-Y)
a=0,3411 t=88,23 t/a=258.6
relative tristimulus value Y contrast
logY/Y) =log[(1+a-Y)/(t-Y)]

application
v range
X ~
1 log@¥/Y)=—234 m;=-01"~ . _

Y,=18, dY,=0,08 dY,/Y,=0,0044

WE540-5N_1

log (Y/AY) CIE tristimulus

log(S) S=(v/aYy) value sensitivity
L*=(t/a)In(1+a-Y)
a=0,3411 t=88,23 t/a=258.6
relative tristimulus value Y sensitivity
log(Y/dY)=log [ (1+a-Y)/(t-Y)]
L*,=508 Y,=18, dY,=0,08 Y,/dY =222
log(Y/dY)=2,34 m,=0,13

application
range

Y,=18

WES540-7N_1
WES540-7N

TUB-test chart WE54, CIELAB and LABIND_1 formulae input: w/rgb/cmyk —> wirg

log (L*/L* ) relative LABIND threshold lightness
[E7IE

L¥L* = a){In(1+a-Y)-In(1+a-Yy}
a=0,3411 t=88,23 t/a=258.6

L*,=508 Y,=18
log[(L*/L* )]=0, m,;=0,43
application
range
1Y,=18:01)0

WE540-2N_1
log(AY/AY,) relative CIE tristimulus
INUNA value Y difference
L*=(ta)In(1+a*Y)
a=0,3411 t=88,23 t/a=258.6
relative tristimulus value Y difference
log(dY/dY,) = log [(1+a- Y) /t] — log [(1+a = Y,) / t

Y,=18, dY,=0,08 dY,/Y,=0,0044
log[(dYY(dY,)]=0, m,=0,86
application
1 range
1y =18

WES540-4N_1

log [(AY1Y) I (AY/Yy)] relative CIE tristimulus
C//Cr=(AYIY)I(AY]Y,) value Y contrast
L*=(t/a)In(1+a*Y)
a=0,3411 t=88,23 t/a=258.6
tristimulus value Y contrast
10g[(dY/)/(dYy/Yy)] =log[(1+a-Y)/(t-Y)]
~log [(1+a:Yy)/(tY,)

application
range

~
S n

og[(dY/Y)(dY,/Y,)]=0, m=-0,13 1
1
1

Y,=18, dY,=0,08 dY,/Y,=0,0044

'WES40-6N_1

log [(Y/AY) I (Y /AY,)] relative CIE tristimulus
10g(S)  S/Sw=(YIAY)/(Y,/AY,) value Y sensitivity
L*=(t/a)In(1+a-Y)
a=0,3411 t=88,23 t/a=258.6
relative tristimulus value Y sensitivity
log[(Y/dY)/(Y/dY,)]=log [(t*Y) /(1 +a-Y)]
~log [(t* Y,/ (1+a:Yy)]

L*,=508 Y,=18, dY,=0,08 Y,/dY =222
: application

1 range
1Y,=18

'WES40-8N_1

log (L*) LABJND threshold lightness
log(L*) L*
L*=(t/a) In [ 1 + b (Y/Yy)]
a=0.3411 t=88.23 t/a=258.6 b=a,=6.14

L* =508 Y,=18
log(L*;)=2.7, m;=0.43

application
range
1Y, =180

WES41-1N_1

log AY CIE tristimulus value Y difference
10g(AY) AY %= (ya) In[1 + b (Y/Y,)]
a=0.3411 t=88.23 t/a=258.6 b=#,=6.14
tristimulus value Y difference
log(dY)=log[(s+qY)/c]
=log [(1+b(Y/Yy))/t]
s=0.017  ¢=0.0058 c=1.5

*
Y,518, dY,=0.08 dY,[Y,=0.004 ¢

application
range

WES541-3N_1

log AY/Y) CIE tristimulus

log(C;) C,=(AYIY) value'Y contrast
L*=(Ya) In [1 + b (Y/Yy)]
a=0.3411 t=88.23 t/a=258.6 b=&,=6.14
tristimulus value Y contrast
log(dY/Y)=log [ (1 + b (Y/Yy))/(t-Y)]

application
range

1 ~
1 l0g(@YIY)=-2.34 m=-0.13" ~ . .

WES41-5N_1

log (Y/AY) CIE tristimulus

log(S) S=(v/ay) value sensitivity
L*= (t/a) In [ 1 + b (Y/Yy)]
a=0.3411 t=88.23 /a=258.6 b=¥,=6.14
tristimulus value Y sensitivity
log(Y/dY)= log [ (1+b (Y/Yy) ) / (t-Y) ]
L* =508 Y,=18, dY,=0.08 Y,/dY =222
log(Y/dY)=2.34 m,=0.13

application
range
Yy=18:00

WES541-7N_1
WES541-7N

Threshold lightness, difference, contrast, and sensitivity output: no change
M Y L

log (L*/L* ) relative LABJIND threshold lightne
LHL*

L¥IL* = (ta) {In (1 + b (Y/Yy) = In (1+b)}
a=0.3411 t=88.23 t/a=258.6 b=a,=6.14

L*,=508 Y,=18
log[(L*/L* ,)]=0, m,;=0.43
application

1 range
5100

WES541-2N_1
log(AY/AY) relative CIE tristimulus
INUNE value Y difference
L*= (/@) In [ 1 + b (Y/Yy)]
a=0.3411 t=88.23 /a=258.6 b=¥,=6.14
relative tristimulus value Y difference
log(dY/dY,) = log [(1+b* (Y/Yy)) / t] - log [(1+b) / {]

Y,=18, dY,=0.08 dY,/Y,=0.004 ’

log[(dYY(dY,)]=0, m,=0.86
: application
1 range
1y =18

WE541-4N_1
log [(AY1Y) I (AY,/Yy)] relative CIE tristimulus
C/ICr=(AY)/(AY]Y,) value Y contrast
L*=(t/a) In[ 1 + b (Y/Yy)]
a=0.3411 t=88.23 t/a=258.6 b=&=6.14
relative tristimulus value Y contrast
log[(dY/V)/(dYy/Yy)] =log [(1+b(Y/Yy) )/ (tY)]
—log [(1+b) / (tYy) ]

5
log[(dY/YY(dY,/Y,)]=0, m,=-0.
Y,=18, dY,=0.08 dY,/Y,=0.004

WES41-6N_1

log [(Y/AY) I (Yy/AY,)] relative CIE tristimulus
109(S)  S/S,=(YIAY)/(Y,/AY,) value Y sensitivity
L*= (t/a) In [ 1 + b (Y/Y,)]
a=0.3411 t=88.23 t/a=258.6 b=a,=6.14
relative tristimulus value Y sensitivity
1og[(Y/dY)/(Y,/dY,)] = 10g [(t-Y) / (1+b-(Y/Y,) )]
—log [(t-Yy) / (1+h)]

L*,=508 Y,=18, dY,=0.08 Y,/dY =222
application

¢ range
5100
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